\I
Name: K-g U

Teacher:

Score:
Date:

Review of Operations, Expressions and Solving Equations

Order of Operations
1. 8x3+6x2-7

UGy 2 -7
Hyx 2 -7

g -7 =1

2. 18+11-8x9+4 ¥
(- Ll‘z,'c
| + 1 -725d -
I$ +\=19
-

3. 4x(15-(28+7))-9
4 x(16 -4 -
L x \ -]

e ELER 3

4, (2x7-(54+9) %6
(14 ~6)rl

% xl L

5. (15+12)-(9x3)x5

—.(;2"\ -2 x$
Yol &3

=Pl

6. (6 x 8)+ ((108+36) +3) LA

43 + (4e=zy 2
43 +u48
Q6

7. 3x(13x5+7%)-16x4

2x(13n6+4R) -l X o
3 x (b5 HD-Ibxd
3 ¥ I ,“ ’," x q
342 - o =]275§
8. (33-19) x (60 + 15) + 52

14 x 4 +35
50425
2 u
9.((5+1)2- (72 +3)) x 17 5}—7-;‘
(0*-24y x 17 e

(3&0 o) xu 7 r
[2X17] ’,!;204'
10.9 + (4 x (17-6) ?) -84 |

R+ x (Y )su
9+ Yriz) <

q+eu -34




Simplify and Evaluate Expressions
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Solve Equations
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